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For each question from 1
your choice (1, 2, 30r4)

to 14, four options are given. One of them is the cosrect answer. Make

and shade your answer on the Optical Answer Sheet.

(28 marks)

1 The diagram shows a fry

part

Which of the following propertie

X

{1 It absorbs water well
(2) It is a good conductor of heat
(3} it is a conductor of electricity

{4 It does not allow light to pass through

Insects

I

~

Have transparent wings

|

-

|

i

ing pan. Part Xis used to fry food and is made of metal.

s makes metal the most suitable material to make part X.

2 The classification diagram shows how four insects A, B, C and D are classified.

Do not have {ransparent wings

l

-

l

Have two wings

Have four wings

A

Insects A, B, C and D are not classified according to the

) body shape
(2) waytheyfly
{3) type of wings

l

B

(4} number of wings

Have round body

I
c

Have thin body
|

D




The diagram shows the digestive system of a human body.

At which of the organs (A, B, C, D, E and F) does digestion start and end?

Start of digestion | End of digestioh
¢)) A F
(2) A D
(3) B E
4 Cc D

The diagram shows a plant.

Which of the following is a function of part L?

M
2
(3)
(@)

It holds the leaves upright.

It makes food for the plant.

It absorbs water for the plant.

It takes in carbon dioxide and gives out oxygen.
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Siudy the diagram.
ALy o paper
air —— cup
LT T T basin of water
L_“’ T T = T

A piece of paper was pasted onto the inner bottom surface of a cup. When the cup was
pushed upside down into the basin of water, the piece of paper remained dry.

Which property of air did this experiment demonstrate?
(1)  Air has mass.

(2)  Air occupies space.

(3) Air has no definite shape,

(4) Air has no definite volume.

Rhys conducted an experiment with the four set-ups as shown in the picture below. Four
identical eggs were left in each beaker for 5 minutes before being taken out and cracked,
to see how gooked each egg was.

Set-up A Set-up B Set-up C Set-up D

beaker

-
-

- ~<l egg
- (- - o
100ml of 150ml of 100m! of
water at water at water at
80°C 60°C 90°C
Which one of the following shows the correct arangement?
Most cooked egy +» Least cooked egg
%)) C A D B
(2 D A B c
(3 A Cc B D
4 B D A C
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Susan set up an experiment as shown.

What will she observe aboz;t the colour of the flower

—— white flower

—— 250 mi of purple-coloured water

after three days?
Colour of the flower | Amount of water in the beaker (ml)
{1 White 200
¥3) White 250
3) Purple 200
{4) Purple 250

The pie chart shows the composition of gases in the air,

Which of the following statement(s) is/are true about the air that we breathe out?

N
2
3
(4)

as Q
gas R g

A The amount of P will decrease.

B The amount of Q will decrease.

C The amount of R will decrease.

A only
only
C only
B and C only

and the amount of water in the beaker
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6

Paul removed the outer ring of a plant at part Y. After two weeks, he observed a swelling
above part Y.

leaves

(A ‘4

N " .

: 4 swelling

_——_———-’
|
EV 4 N
R & W) o two weeks later
A o
f' [ "_& % .
! {; \” roots

"-w. .
o \

LR i)

Which tube at part Y was removed and what was the correct explanation for Paul's
observation?

Tube removed ' Explanation
" Food made from the leaves was not able to travel to the
(1) | food-carrying tube foots.
(2) | food-carrying tube Food made from the leaves was able 10 travel {0 the rools.
(3) | water-carrying tube Water from the leaves was not able to travel to the roots.

(4) | water-carrying tube LWater from the leaves was able to travel to the roots.
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1

The diagram represents the movement of substances around the human body,

C

Cireulatory - > ! Other parts of the body
D

S

Digestive

Which two arrows best represent the movement of digested food?

Q)
@
(3)
(4)

AandC
AandD
BandC
BandD

Material Y is used to make the casing of a fight bulb as shown.

material Y

Which of the following is a correct reason for choosing material Y?

(1)
(2)
(3
(4)

It is a magnetic material,

itis a conductor of electricity.

It is a good conductor of heat.

It allows the most light to pass through it
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13

The diagram shows a circuit which is used to make an electromagnet.

stes} nail

When the switch is closed, electric cumrent will pass through the circuit and the steel nail
will become an electromagnet.

Which one of the following methods helps to increase the strength of the electromagnet?

(1)
&)
3
4

Use a longer wire in the circuit.
Place one more battery in the circuit.
Changs the material of the nail from stee! to copper.

Reduce the number of coils of wires around the nail.

The diagram shows an electrical circuit with four bulbs.

Which of these bulbs will remain lit when bulb E fuses?

(1
2
&)
@

B only
B and C only

C and D only

B,CandD
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14 Steven tested a circuit card using a cireuit tester as shown in the diagram.

wire X

wire

The table shows the resuits when wires X and

clips of the circuit card.

Y

Y are connected to different steel paper

| Steel paper clips tested | Did the bulb light up? |
Aand B No
Aand D Yes
AandF Yes
CandE No
DandE No
Which of the following circuit cards did he use?
(h (2)
A D A ]o
BI™3 E B E
c CdrF ¢ | F
®3) (4)
Al ] D AL b
B /: E B[ CE
c L1 F c S -__ | F

END OF BOOKLET A







A“Blﬂ'ﬁf!;imxn Schoal
(Brimary)

A Mehodhie) inetituticn
{Founded 1868}

MILESTONE CHECK 2023
SCIENCE
PRIMARY FIVE
BOOKLET B

Name: { ) Class: Primary 5 ___

Date: Duration of paper: 56 min

Parent's/Guardian’s signature

INSTRUCTION TO CANDIDATES

This question paper consists of 8 printed pages including this cover page.
Do not tum this page until you are told to do so.

Follow all instructions carefully.

Answer all questlions. .

Write all your answers in this bookiet.

SRl ol

Booklet Maximum marks Marks obtained
A 28
B 22

Total 50




For questions 15 to 21, write your answers in this booklet.

The number of marks available is shown in brackets [ ] at the end of each question or part guestion.
(22 marks)

15 Zahid created a set-up as shown,

magnetB  magnet A
glass marble

NS NjS

box\

floor

e

{a)  Without touching magnet A or the marble, explain how Zahid can use magnet B to
cause the glass marble to drop to the floor. 12}

(b}  Zahid then replaced magnet B with object C and observed that object C was
attracted to magnet A, Suggest a material that object C could be made of. [1]

(Go on to the next page)™

Score
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The two diagrams show the life cycles of a frog and a grasshopper.

Son

o
ST

{(a)

{b)

t—
-

lite cycle of a frog life cycle of a grasshopper

Based on the diagrams above only, state one difference beiween the stages of the
life cycle of a frog and a grasshopper. (&)

Animals like frogs lay many eggs at a time, Give a reason why doing so increasas
the chances of the frogs' survival. [1]

(Go on to the next page)

Score




17 Dave conducted an experiment in a dark room. He wanted to find out how the number of
sheets of paper used affected the amount of light passing through them. He placed a piece
of paper between a it torch and a light sensor as shown.

paper
e

~ "}— hight sensor

He slowly increased the number of sheets of paper used and recorded his results as
shown.
Number of sheets of paper used 1 2 3 4
Amount of light detected by the light sensor (units) | 80 60 40 20
(a) Whatcanbe concluded from the experiment? 1

(b)  Other than the light sensor and paper, state one other vanable to be kept
constant to ensure a fair test. i1

() Whywasthe experiment conducted in a dark room? M

{Go on to the next page)

Score




18 The diagram represents how blood is circutated in the human body. A, B8, C and D
represent blood vessels.

lungs

AlC

heart

other parts of
the body

(a) () State the two biood vessels that contain blood rich in oxygen. [t

{li) State the two blood vessels that contain blood rich in carbon dioxide.
(1]

Q18 continues on page §
(Go on to the next page)

Score




Nurul conducted a test to find out what happens to her puise rate when she exercises.
She measured her pulse rate at the start of the experiment and jogged on the spot for four
minutes. She measured her pulse rate every minute for ten minutes and represented her

resulls in a graph as shown.

puise rate {beats per minute)
140

" N
i T

80

60

40

20

0 2 4 ' t; l s's ' 10
time (minutes)
{b) Based on the graph above, what is Nurul's pulse rate at rest? 11
beats per minute

{c) What happened to Nurul's pulse rate when she exercised? Explain why. 121

{Go onto the next page)

Score




19 The diagram shows the respiratory system of a fish. Fishes absorb dissolved oxygen
from the water as the water passes through the gills.

many tiny
hair-like
structures
covered in
large number
of blood
vessels

(@)  Explain how having many tiny hair-like structures help the fish get more dissolved
oxygen. [1]

The diagram shows part of the human respiratory system.

blood
vessels

(b)  How does oxygen in the environment reach the blood vessels of the air sacs? (1

{Go on to the next page)

Score
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buzzer, two batteries, some metal strips and wires to &

20 Alex connected a circuit using a
od that when the door was closed, the buzzer stopped

wooden door as shown. He notic
buzzing.

wooden door {opened) wooden door (closed)

metal strips
P metal strips

batteries

{a) Explain why the buzzer stopped buzzing when the door was closed, 2}

(b)  Alex observed that that the buzzer was too soft to be heard clearly and wanted to
modify his ciscuit. Without changing the buzzer, suggest what Alex could do to the
circuit to make the buzzer produce a louder sound. i1}

{Go on to the next page)

Score




21 Meera set up the two electrical circuits as shown using similar batteries and bulbs,

AQ

—{ XX
circuit X Gircuit Y
{a)  Based onthe set-ups, what is the aim of her experiment? 1]

Meera then set up another circuit as shown below.

—{

circuit Z
(b)  Draw the circuit diagram of circuit 2, using cirguit symbols, a ruler and a pencil in
the space provided below. {2
{c}  Which bulb it up mere brightly, A or B? Explain your answer. 1
END OF BOOKLET B

Score
END OF MILESTONE CHECK 4







HBqoY /1849IN A199)S / UO] ast

‘umop siqsews oyt ysnd pue b sz 0) 0w o} v Jeubew asnes M sy L
jedos s s10uBBW OM) B4
Oy} 08 punoJe g Jeuisw “SUM \L | BG)

“JayYlo yoee
"vieufiew jo ajod yuou ey Spsema) $898) g 46 8jod “gou

SYIAMSNY d3.1s399NnS ‘NO

g iepjoog

} ot Z <

1.4 4 I 8 g 14

4 £} £ 8 [ £

4 (4] € ) 4 Z 4

< 1. ¥ 8 4 i

_suy ON suy ON suy ON
Vv ijepjoog

SJe[dUIE] SUCHI81I0D ,5jUePS

sse) ) BWeN




16a | The young of a frog does not fook  fike the adult while the young of a grasshopper looks lke the adult, (vice-versa) OR
The grasshopper has a _ymph stage but not the frog. OR
The frog has a tadpole stage while the grasshopper has a nymph stage. OR
The life cycle of a frog takes place partly in water__while the tife cycle of a grasshopper takes place entirely on __land
16b | itis to ensure that at least some of the eggs will_hatch __ into young tadpoles (lo increase the chance of the frog's survival.)
17a | The greater __the number of sheets of paper used, the __lesser the amount of light detected.
175 | Distance between the ___torch__and the _paper
Other acceptable answers
Distance between the torch and light sensor/ Distance between the paper and light sensor/ Brightness of the torch
17¢ | This is to ensure that no other light source_ affected the results of the experiment.
18a ® AandB
{ii) CandD
18h | 60
18c | Her pulse rate __increases
Her heart aeeds to pump blood faster to transport more oxygen
and digested food to the other parts of the body/muscles to produce more energy.
192 | Nincreases _exposed  surlacareatothe _water ~mare (dissolved) oxygen to be absorbed (into the blood).
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21¢c

The bulb A is__brighter __than bulb 8.
Thereis MOM® _ glectric current / electricity fiowing through bulb A than B.




